C:# Examining Digit Place Value Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

Which choice has a4 with the value of 400 or 4 hundreds?
A. 415 B. 645 C. 348 D. 134

Which choice has a 2 with the value of 2,000 or 2 thousands?
A. 2976 B. 7,245 C. 59,238 D. 28,546

Which choice has a 2 with the value of 20,000 or 2 ten thousands?
A. 239,451 B. 926,735 C. 871,942 D. 15,298

Which choice has a7 with the value of 70 or 7 tens?
A. 657 B. 17 C.57 D.72

Which choice has a4 with the value of 400 or 4 hundreds?
A. 8,429 B. 4,659 C.834 D. 243

Which choice has a4 with the value of 4,000 or 4 thousands?
A.6,734 B. 9,374 C. 4,156 D. 1574

Which choice has a 7 with the value of 70,000 or 7 ten thousands?
A. 698,725 B. 978,413 C. 543,876 D. 39,572

Which choice has a5 with the value of 50 or 5 tens?
A.25 B. 856 C.635 D. 65

Which choice has a 8 with the value of 800 or 8 hundreds?
A. 284 B. 1,698 C. 6,859 D. 168

Which choice has a9 with the value of 9,000 or 9 thousands?
A. 3,496 B. 84,139 C. 45,916 D. 9,425

Which choice has a7 with the value of 70,000 or 7 ten thousands?
A. 572,148 B. 397,468 C. 47,536 D. 794,683

Which choice has a9 with the value of 90 or 9 tens?

Answers

10.
11.

12.

C
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A. 129 B. 697 C.79 D. 29
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Answer Key

Solve each problem.

1) Which choice has a4 with the value of 400 or 4 hundreds?
A. 415 B. 645 C. 348 D.134

2) Which choice has a 2 with the value of 2,000 or 2 thousands?
A. 2976 B. 7,245 C. 59,238 D. 28,546

3) Which choice has a 2 with the value of 20,000 or 2 ten thousands?
A. 239,451 B. 926,735 C. 871,942 D. 15,298

4) Which choice has a 7 with the value of 70 or 7 tens?
A. 657 B. 17 C.57 D.72

5) Which choice has a 4 with the value of 400 or 4 hundreds?
A. 8,429 B. 4,659 C.834 D. 243

6) Which choice has a4 with the value of 4,000 or 4 thousands?
A.6,734 B. 9,374 C. 4,156 D. 1574

7) 'Which choice has a 7 with the value of 70,000 or 7 ten thousands?
A. 698,725 B. 978,413 C. 543,876 D. 39,572

8) Which choice has a5 with the value of 50 or 5 tens?
A.25 B. 856 C.635 D. 65

9) Which choice has a8 with the value of 800 or 8 hundreds?
A. 284 B. 1,698 C. 6,859 D. 168

10) Which choice has a9 with the value of 9,000 or 9 thousands?
A. 3,496 B. 84,139 C. 45,916 D. 9,425

11) Which choice has a 7 with the value of 70,000 or 7 ten thousands?
A. 572,148 B. 397,468 C. 47,536 D. 794,683

12) Which choice has a 9 with the value of 90 or 9 tens?
A. 129 B. 697 C.79 D. 29

Answers
1. A
2. A
3 B
2. D
5. A
6. C
7 B
s B
9. C
0. D
1. A
1. B
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